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PART A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank. Then

mark the correct choice on your answer sheet.

1-  The rising death toll is ---------- largely to the growing number of elderly people, who are
especially vulnerable to the flu.
1) attributed 2) converted 3) debilitated 4) transferred

2-  The couple were finally ---------- by the landlord after not paying their rent for six
months.
1) extended 2) elicited 3) evicted 4) evacuated

3- We have a ---—------- clientele in our language program, with students from Asia, Europe
and South America.
1) complex 2) diverse 3) symmetrical 4) haphazard

4-  But the possibility of these adversaries acting like friends, despite their long-standing
---------- and mutual dislike, is on the horizon.

1) rivalry 2) advocacy 3) inclination 4) justification

5-  Debating that aliens exist cannot be deemed an ---------- truth as we have yet to see proof
of their existence.
1) unintelligible 2) insensitive 3) unforeseeable 4) incontrovertible

6-  The girls wanted to set the table, but they were more of a ---------- than a help.
1) compliment 2) hindrance 3) thrill 4) pretension

7-  The government is to consult the attorney general on whether the enacting of such a law
would be in ---------- of the constitution.
1) provenance 2) rationalization 3) breach 4) caprice

8-  Someone once joked that man blames most accidents on ---------- , but feels a more
personal responsibility when he makes a hole-in-one on the golf course.
1) legality 2) verdict 3) charge 4) fate

9-  The trial collapsed when it became clear that the main witness for the prosecution was
not ---=------ :
1) credible 2) singular 3) subjective 4) conjectural

10- The rising number of minority inmates in prison only goes to ---------- the stereotype that
members of minority groups are bad people.
1) overlook 2) downplay 3) belie 4) perpetuate
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PART B: Cloze Passage
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each

space. Then mark the correct choice on your answer sheet.

Fuel cell electric vehicles emit only water vapor and warm air, (11) ---------- no
tailpipe emissions. Similar to electricity, hydrogen is an energy carrier that can be
produced from various feedstocks. These feedstocks and production methods should
be considered when (12) -—-------- .

Argonne National Laboratory’s (ANL) report, Fuel Choices for Fuel Cell
Vehicles: Well-to-Wheels Energy and Emission Impacts, analyzed greenhouse gas
(GHG) (13) ---------- 10 of the most common hydrogen production and distribution
pathways. ANL found that gaseous hydrogen produces (14) ---------- GHGs than liquid
hydrogen in most cases. ANL also investigated hydrogen’s effects on petroleum use
and found that using hydrogen as a fuel (15) ---------- petroleum use by nearly %100
regardless of fuel production pathway.

11- 1) produce 2) that produces 3) to produce 4) producing
12- 1) to evaluate hydrogen emissions 2) evaluating hydrogen emissions

3) for hydrogen emissions to evaluate 4) hydrogen emissions evaluated
13- 1) emussions for 2) 1t 1s emitted as 3) 1s emitted for 4) to be emitted
14- 1) less of 2) as little 3) fewer 4) fewer of
15- 1) reduction 2) reduced 3) that reduces 4) to reduce

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best

choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

A key theme in economic analysis is the evaluation of alternatives and trade-offs. This
often involves the use of counterfactuals. In order to investigate the current and future
role of agricultural economists, it might be worthwhile to use the thinking of economic
analysis and define the counterfactual as a world without agricultural economists.
What is it that agricultural economists contribute and what would we lose without it?
Agricultural economics was among the first and largest applied economics disciplines
that started to use economic principles in order to solve the problems with farm
management and agricultural policies. As a child of applied economics, agricultural
economics has been evolving and expanding both in the scope of the problems and in
the variety of economic approaches. The interests of agricultural economists have
developed over two axes: the set of theoretical and methodological approaches and the
series of evolving focus areas or phenomena being studied. This is characterized by the
rising number of ‘hotspots’ combining new focus areas and methodological
developments. On both axes agricultural economists have been fanning out.
Agricultural economists not only differ in their main ideas and analytical devices, but
also in their levels of analysis and practical applications to agricultural policies. The
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16-

17-

18-

19-

20-

phenomena with which agricultural economists are concerned are production,
consumption, distribution, and exchange of goods and services produced from or of
land and other natural resources—particularly, but not necessarily, via markets. With
the expansion of topics studied, the beneficiaries of agricultural economics have been
broadened from farmers and land managers to public policymakers, financial
institutions, and food chain companies. Although standardized methods and techniques
from agricultural economics may survive, a world without agricultural economists is a
world in which new and more complex problems are not covered, and new
methodologies which are tailored to the problems in this domain are not developed.
That would result in partial solutions based on standard methods of which the
underlying assumptions and indirect effects are not well-understood.

According to the passage, all the following statements are true EXCEPT ---------- :
1) Agricultural economists are similar regarding their analytical devices and levels of
analysis

2) Evaluation of alternatives and trade-offs often involves the use of counterfactuals

3) Agricultural economics uses economic principles to solve the problems of farm
management

4) Evaluation of alternatives and trade-offs is a major theme in economic analysis

According to the passage, all the followings are among the beneficiaries of agricultural

economics EXCEPT ---------- %

1) farmers and food chain companies

2) land managers and financial institutions

3) land managers and private institutions

4) farmers and public policymakers

The passage probably continues with a few sentences about ---------- .

1) the standard methods 2) the two axes

3) the natural resources 4) the hotspots

What is the main purpose of this passage?

1) To explain about applied economics

2) To explain about economic analysis

3) To explain about agricultural economics

4) To explain about the roles of agricultural economists

The word ‘assumption’ in the passage (underlined) is closest in meaning to ---------- .
1) gainable 2) presupposition  3) consternation 4) variable
PASSAGE 2:

Negative externalities from the agricultural sector are a reality and need effective
approaches to be mitigated. In fact, farming activities, namely those from conventional
agriculture, have relevant contributions for the problems related to air, soil, and water
pollution. More attention is frequently paid to the negative impacts rather than good
practices that may contribute to a proactive mitigation, stressing the problems rather
than the solutions. Sometimes, the great problems related to the several approaches in
mitigating the negative externalities from the agricultural sector are the farming costs
associated with alternative farming activities such as the conversion of runoff-prone
surfaces to buffers and the installation of good barnyard practices. The agricultural
innovation associated with new technologies and nanotechnology can provide a
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contribution to cost reduction and the improvement of agricultural sustainability.
However, regardless of such agricultural innovation, there are still negative
externalities such as environmental problems of the agricultural sector that have other
different sources in many regions; for instance, the fertilizers, the plant protection
products, and the variation of soil carbon content. Therefore, it is necessary to change
the farmers' attitudes and perceptions regarding the negative externalities from the
agricultural sector. In fact, one of the most important approaches to mitigating
pollution impacts is to do some work to raise farmers’ awareness. Moreover, due to the
concerns for human health, consumers will increasingly prefer healthier food. These
contexts will force farmers to make significant adjustments in the production systems.

According to the passage, all the following statements are true EXCEPT ---------- 5

1) Negative externalities from the agricultural sector need effective approaches to be
mitigated

2) Farming activities have relevant contributions for the problems related to air, soil,
and water pollution

3) Agricultural innovation can contribute to cost reduction and improvement of agricultural
sustainability

4) Negative externalities such as environmental problems of the agricultural sector have a
single source

What is the main purpose of this passage?

1) To explain about the variation of soil carbon content

2) To explain about negative externalities from the agricultural sector

3) To explain about consumers’ increasing preference for healthier food

4) To explain about the installation of good barnyard practices

The passage probably continues with a few sentences about ---------- :

1) adjustments that the farmers need to make in the production systems

2) negative impacts that may contribute to a proactive mitigation

3) farming activities from conventional agriculture

4) farming costs associated with alternative farming activities

What is the author’s attitude towards awareness raising among farmers?

1) Disregard 2) Indifference 3) Admiration 4) Suspicion
The word ‘conversion’ in the passage (underlined) is closest in meaning to ---------- .
1) embankment 2) consequence 3) stagnation 4) change
PASSAGE 3:

Considering the substantial potential influence of income convergence on food
demand, a key question is whether food supply will be able to meet that increase in
demand. While many traditional partial equilibrium models of food demand and
supply have taken national income as exogenous, this actually seems to be a narrow
approach. Most changes in per capita income—and particularly sustained changes in
income—are the result of changes in productivity. To the extent that changes in
productivity result from policy changes, it seems likely that these changes would
increase productivity in agriculture. Given the fact that agriculture has a fixed factor,
land, even uniform productivity growth is likely to result in lower growth in
agricultural output. In general, whatever the channel of effect, a decline in the share of
agriculture in output, as economies grow, is one of the most robust empirical findings
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in economics. Consistent with this, a simple agricultural supply function was
presented. Its curve was much closer to linear compared with the demand curve. Since
both the aggregate income elasticity of demand and the aggregate income elasticity of
supply consist of value-share weighted elasticities across countries, the elasticities at
the national level and the expenditure- and income-share weights are relevant to the
outcome.

According to the passage, all the following statements are true EXCEPT ---------- a

1) Most changes in per capita income are due to changes in productivity

2) Only the aggregate income elasticity of supply includes value-share weighted elasticities
3) A decline in the share of agriculture in output is one of the most robust empirical findings
4) Land 1s considered a fixed factor in agriculture

What is the author’s attitude towards traditional models approach regarding national
income?

1) Disregard 2) Admiration 3) Suspicion 4) Indifference
The word ‘equilibrium’ in the passage (underlined) is closest in meaning to ---------- i
1) equivocation 2) precision 3) agitation 4) balance
The phrase ‘consistent with’ in the passage (underlined) is closest in meaning to ---------- :
1) in accordance with 2) in conflict with
3) in comparison with 4) in disagreement with
The word ‘its’ in the passage (underlined) refers to ---------- ;
1) decline 2) output 3) function 4) supply
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